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Income Markets for Factors Factor payments
of Production

Private saving Financial

Markets

Public
saving

Taxes
Households Government Firms

Government Investment
purchases

Consumption Markets for Firm revenue
Goods and Services

The Circular Flow of Dollars Through the Economy This figure is a more realis-
tic version of the circular flow diagram found in Chapter 2. Each yellow box repre-
sents an economic actor—households, firms, and the government. Each blue box
represents a type of market—the markets for goods and services, the markets for the
factors of production, and financial markets. The green arrows show the flow of
dollars among the economic actors through the three types of markets.
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Factor price How a Factor of
Production Is
Compensated The price
Factor paid to any factor of pro-
supply duction depends on the

supply and demand for that
factor’s services. Because
we have assumed that sup-
ply is fixed, the supply curve
is vertical. The demand
Factor curve is downward sloping,
The intersection of supply
and demand determines the
equilibrium factor price.
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2. As more
labor is added,
the marginal
product of labor

declines.

1. The slope of
the production
function equals
the marginal
product of labor-

MPL

Labor, L

The Production Function This curve shows how output
depends on labor input, holding the amount of capital con-
stant. The marginal product of labor MPL is the change in
output when the labor input is increased by 1 unit. As the
amount of labor increases, the production function becomes
flatter, indicating diminishing marginal product.
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Units of output

MPL, Labor
demand

\

Quantity of labor
demanded

Units of labor, L

The Marginal Product of
Labor Schedule The mar-
ginal product of labor MPL
depends on the amount of
labor. The MPL curve slopes
downward because the MPL
declines as L increases. The
firm hires labor up to the
point where the real wage
W/P equals the MPL. Hence,
this schedule is also the
firm’s labor demand curve.



